
--/--/--

-- -- --/--/-- ---

REV.

THREE PLACE DECIMAL  

VANASCHE MOTORSPORTS IS PROHIBITED.

ZONE

37731 Bond Rd NE Albany, OR 97322

D

C

B

AA

B

C

D

1234567

---DX-SK1

DWG.  NO.

UNLESS OTHERWISE SPECIFIED:

-
REV

 .005

SHEET 1 OF 1
WITHOUT THE WRITTEN PERMISSION OF 

8

B

APPROVED

FOUR PLACE DECIMAL  

DATE

NAME

DESCRIPTION

SIZE

DATE

REVISIONS

SCALE: 1:2

COMMENTS:

WEIGHT:

8 7 6 5 4 3 2 1

PROPRIETARY AND CONFIDENTIAL

 .0005

MATERIAL

FINISH

--

--

DRAWN

CHECKED

ENG APPR.

MFG APPR.

Q.A.

DIMENSIONS ARE IN INCHES

TOLERANCES:

FRACTIONAL  1/8"

ANGULAR: MACH  0.1      

                   BEND  2

TWO PLACE DECIMAL     .030

THE INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY OF

VANASCHE MOTORSPORTS.  ANY 

REPRODUCTION IN PART OR AS A WHOLE 

Vanasche Motorsports (541) 666-0636

DX-SK1

DX Factory M10 

Number 15 from image

Number 16 from image

DX Factory M10 Washer 

DX Factory M10 Nut 
Number 14 from image

Torque - 15 LB-FT (20N*m)
VM Supplied M8x30 

Number 13 from image
Torque - 33 LB-FT (45N*m)

DX Factory M10 Washer 

DX Factory M6 Bolt Reused
Torque - 7 LB-FT (10N*m)

Scott's Damper

TOP CLAMP

SUBMOUNT

Frame Bracket 
w/Tower Pin


